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3-by-2 2-by-1 1-by-2  2-by-2 v Rl e T2 AT |
Which is order of a square matrix? i
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1-by-3 3-by-1 2-by-3 v/ 3-by-2 5 3 2 17 |
Order of transpose of [0 1]is: I

3 2 —

—1 0 -1 2 1 =2 [_1 _2] ez 2Adj [0 _1] ;
PO ] I P B 1 2 18 |

_ - (74 Adjoint of [ ]is: i

0 —1 I
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Real Intecer Whole Rational {0,+1,+2,43,...}is the set of : 22 !
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I SE Reﬂiive ol o a =a,Va € Risa /irTJ profJ:rty:a ’ 23 |
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i S Jc . -at'//wf_ﬁta a=b=>b=a,Va,beR
1 s : S 3= N 24 I
| Symmetric Reflexive Trichorom Additive ¢ = b= b\: @, ¥Ya,beRrepresent : I
| v y propeKt/}L/
> < A Vv \n Tt P T

ne (CPY bol "for all"is ___: :

(j}(c:.;;; -\e\\l/cf _u*(’_'/ Kﬂ@f’n’uﬁ %J‘g;},) |

el S JU \@Jf& In radical Va, 'n’is____ of radical: 26 |

Sign Index v/ Base ¢ \Noﬁe oF i

~ v\\\ these

etk U N 7 -4 s a o Vaks .

Sign Index Base v/ N 6-GF In radical Va,'a’ is of radical: i

these i

“fa’b Nab = ? ?yzmnEZ“’mabERfl :

a™/b" Vb a® ab)" Va o : 28 |

v v (ab) v a,b € Rand m,n € Z* thenVab = -
b S il flied"am" nfdu_,i i

bof1 ! ijclK;Bw n' w 1 In the exponential form "a™", n is called __ of i

i f Juoa v exponent: 29 |
Index of Indexof | pacoofa’ None i
power of  power of 'n i
a'v/
aER; 0} er— {a} aeR a=0 . £a®=1, 4L 30 |
For a number”a”, a® = 1, when: i

1 I

5 = | i

2 2 5 = -adf*u #J(m) 0|
Simpliest form of (E) is: i

JJ,J é" J}’L/;" e | _Lé.t'ﬂ(f’;}ﬁ ..Q,j,w(ff/; 2 ;

. Complex Everyreal numberisalsoa___ number: . -

Natural Integer [rrational Y, i

| =7 B ;

+V=1 =1 V=1v Vi . =T E gy [

In complex numbers i =? i

w 3 0(—=1)5 i

1 1 iV o 2 =6(-0)° 34 |

The valus of(—i)° is ;

e 3 | p(4i—3) _4i+3  4i+3 | L L e AR |
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i s A ety o626l 1 Z = a + bi u._fimw.‘.:f/_xj i
| imaginary Real v/ BothA&B  Noneof The sum of a complex number Z = a + bi
. these  and its conjugateisa___ number: :
| vt Vs A (27x )23 = 37 |
I 8 8 9 9 :
i ) . 7 i
| x7/? xM7 v X’ X ] Hkrdnf NF 38 |
i Write 4/x in exponential form: i
: NI NIV :
I /46 2123 /43 V42 4o 39 |
4 ¢ * Write 42/3with radical sign:
i i = o D IO A 35 |
JE O 1 ‘ gtV
I _ 40 |
| None of o 3 : In V35 the radicand is: !
I these I
i 4 5 4 v 5 25 —% 41 i
| — t : 4 (5) - |
| 5+4i 5 — 4iv/ —5 — 4i —5 + 4i T <S4 4, |
! The conjugate of 5 + 4i is: ;
| —iv j -1 1 =5 T |
] The value of i°is: I
| A% d e g wfer . i skale 5
1| acomplex _ _ .. Every real number is: 44 |
|  Lumber @Nesative a rational a positive - I
L integer number integer
: - ! [
| —2abi 2abi ~2ab v 2ab »Fab(i+ )/ o |
i Real part of Za%{l + i%) is: i
: o 3 ; s \5,;. o =i (30 + 2) AE w6 I
L/r,/r&agﬁlary part of —i(3i + 2) is:
E 1 ( ) _. QL.JlaKJMJLpC?J:BL Jlrc):( E
| {1; V2, E} {0,1} {0, -1} 10} g > Which of these sets have the closure property -%7 I
<) (9"  w.r.taddition?
| . -,\ / ‘Jg . \/g " . ||
i I R i TV S 8 Wodigr -~ (=F)x1=-Fedil___ eervuf g
1| Multiplicativ Multiplicative AddlthE‘\‘\ Additive =~ Name the property of real numbers used in .48 |
| elnverse Identity v/ Inv\er\Sé Identity (_ E) X1=— E; I
I : 2 [
% i X < P> Jz < 01 :
| None of xz=yz  xXz2>yzV Xz <YZ  Ifx,y,z€R,z<0,thenx <y = 49 |
I these I
: 4 . T s-c=sa >bla < bia=b{lS sabeR/ i
i o ' b X ; . [
I Mugﬁhca Additive  Transitive Trichotomy e l f ?&L‘i”‘(wl’id’( 50 I
I G e Pronerty o a,b € R, then only one of a = bora < bor I
1| | Rropeity st Derty S a > bholds is called:
E ;ﬁ(J/a’)r';l,; }ﬁftj :ﬁ&bl? ;,wJ;ﬁ A ¢ -%}tﬁ Jﬁdfw'dz"-/(/fddw'/-fvgl' E
1 A Prime n ARational A Natural non- er.mma ing, non-recurring decimal g9 [
I [rrational represents: I
| Number Number Number I
: Number ¢/ I
I yRELL erL lfmg,ld//%) I
S ? ) __first gave the idea of logarithm:
| Abu Musa A T8/ ~ | =5
1| Muhammad j5h, Napier HEnTy Arestotle ' i
I Al Briggs I
| Khwarzmi
: 4 [
8 - 3w -4 =
| 0007610 0.000761v  7.6100 7610 o aESET761x 1070 o f
i 7.61 x 10~* in ordinary notation is written as: i
i di’j’g' . //‘*Ub f/d/;_ ?Ll?.dbt?g/)()dblOJlﬂLc)bdkau,( |
Al d. sl ]zhri H (-;nry Which mathematician prepared logarithmic 54
i ] ? §
: Khwa;rzam Jobst Burgi Napier Briggs ¢/ table of base 10 :
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U’J’JUJI d//»-b)le ﬁ.‘:Ulp //d/f y.2. J:A?J/JgUﬂ i
Al Jobst Burgi John Henry  Antilogarithm table was prepared by ___. D5 [
Khwarzami v Napier Briggs
6.43 4 643 6.43 X o A51140.0643
_ 64.3 x 107* _ _ T — .56
x 107* x 1077 107° ¢/ Scientific Notation of 0.0643is .
z . = ™ x Z
0gaX  jogy=xv 109a% 55 y=gq  dnPdAuis et =yl o
=¥ =logy If a* = y then its logarithm form will be:
T A 1 o N e KT KILETI g
The characteristics of 5.79is: )
The logarithm of unity to any base is:
0 e 1 10 v/ —eldn uudA A g
Base of common logarithm is:
4 1
—log, n 1 txlog, (—) =7
“ nlog, 1 log,n —1 (—) B .61
v L v %9a\y log, (i) =? will be
0.4343 04343 23026V -2.3026 | balogel0 =il oo
log,10 =? will be
3.14 2.718 v 10 0 cor__=ifle o
The approximate value of '€’ is:
- X 7
- de@d” =N
a=log,x x l‘/ogan x =log,a a=log.,n X g .64
Ifa® = n, then:
yr=x =y |2Z¥=xv| xV =2 Iny = logz x./) .65

The relation y = log, ximplies:

0 v 10 1 -a.l:‘f/l,/cf. (B’JKJK,l’/‘:JL’lJ( 66
The logarlthm ef umty to any base is:

_4.{:!\ = »..Ji:’fbw(ﬁ:u’lfld/(m/ K}JL)J&L}//

10 —1 0 1v The 1ega/r1thm of any number to itself as base -67
s "2
P \
1 00 0.4343 v/ 0 <N L\J” log i — (e = 2.718) .68
\\}\ . P
log q logp logp l%‘ﬁ > ==4dlog (5) .69
—logp +1logq log q fx\ (Ggﬂ V' The value of log (s)is
log p log(p p logp —logq =
log () v S lo (—) - .70
Y (q) log q S av

e P Slogm"

log(mn) nlogm v mlogn (logm)™
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71
log m"can be written as:
log, c log,b  log.av  log,c ey _ Jlogya xlogeh 4,
log, a X log. bcan be written as:
log,y logz x v l0gy z log, x s Evszlogy x -3
log, x log,y logy z logy z log, xwill be equal to: '
Qa.lf‘/;ﬂ( 2x*y3 + x%y% + 8xu’ -4
7V 4 2 8 What is the degree of the polynom1a1 .74
2x*y3 + x*y* + 8x?
(—x—2) @x—=-2)(x+ (x+2)(x (x-—2)(x e sl X% — 4 -
(—x —2) 2) vV +2) — 2) x? — 4is equal to: '
3 . J g ey ,Jr?. 4 : ¢
g Jes ué’:f Rag)nal Every polynomial is expriss?on- i .76
Integer [rrational Complex v — '
-d/:fc.«gd/x3y?:fy = —1six = 3.1
27 -27V 9 -9 If3x = 3and y = —1then the value of will 77
x°ybe:
(a+b)2 (@—-b)2—-(a (a+b)?>— (a+b)(a i %ﬁ ¢ 4ab=?
+(a—b)* —b)? @bV ~b) " 4aber willbe: oK, 78
(a— e — b3
(@-b)@ (@+b)(@ (a-b)@ 3 oy
- 25 | .. 2 32 a“ + 3 _ p3: . .79
ab + b°) ab + b“) + ab — b*) ab + b?) v a” — b”is equal to:
Jbl?/:,; g}bt Ju}' JJ‘/ ;Iﬁ’ﬂ@j})lﬁ&btééyﬂidl@ufU’?(ML)JD@' @1 =
[rrational ~ Rational Natural Whole <A
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v A / An ___radical with rational radicand is I
called surd:

ce 243 — 327 =2
—3v3 V27 —5V3v V3 A 81 |
4+/3 — 34/27 =7is equal to: .
_? ]
; p : " €x(3+V5)(3-v5)=2 o, |
(3 ++5)(3 —V5) =?will be 0
.:.al}l.x'/;; e o/?. = _ _ - 6}'4(4}: = 2) E
: _ _ Expression (4x + 3y — 2)is an algebraic: 83 H
| Inequation Equation Sentence W, I
4 3 5 1 e >064x* + 2x ydz/ 84
The degree of polynomial 4x* + 2x°yis: i
(a+b)(a®—ab + (a—b)(a® + ab T i
b2) v 5 1p) A 7 :
a® + b3is equal to: g5 |
(a — b)(a* + ab D (a — b)(a? — ab C I
— b?) + b?) -
1 ~1 —7 7V e (3+V2)3-V2) oo |
(3 ++v2)(3 — V2)is equal to: [
—+/b e Jzpaka + Vb5 i
\/_—\/E \/a'l'\/g a./\/_ —a+\/5 _ Gk _ Es (J .87 i
Conjugate of surd a + Vbis: i
1 1 :
—2 —2 2a e — — I
‘ - 22b 2 v 1 1 a-b a+b gg I
— b? a? — b? a“—b a’? —b? —— — —isequalto: I
a—b a+b i
a’—b? i
:ﬁg,,:l/. |
a—bv a+b (a+b)> (a=b)?* . .. atb g9 ||
op S equal EQ
2 ! + I
a+b a—bv a* — b*? a* + b* > _ga4a+Vb)(Va - b) 90 |
W@{E)&(\/_ Vb)is equal to: :
3x—3a 3x+3a—xy3x+xy—ay 3x—3a-+ X\ ?u*d//_.uu/**iu’((B +y)(x —a) 91 i
—Xy—ay —ay — 3y Xy — ay/ (S ((3 - y) (x — a)are prime factors of: '
| /a\\?‘ ?Ld./g.l/u*d'#/LLc@/J?f 9x% — 12xy i
—4y*v/ 4y? 16y~ —\16)*2 What will be added to complete the square 92 [
A\ OV ofX9x % 12xy? I
3 1 o, ,\\;\x‘?ﬁ)\” 4 8 MYA Zx?—T7x+ 12 93
,. \\:\\W x* — 7x + 12 has factors: '
2 S e 2 _ 2 -
] 7y)((5§ (2x + 5y)(3x (2x — 3y)(5x S e o ' -Ufté/";—'f’éilox 41xy + 21y o |
i v Y +7y) —7y) None of these 10x” — 41xy + 21y~are: i
_ . Sz e 2 ]
t+2,x+3 | x+6x—1 | FT2F RN ik L o BPLIZILX®—5%+6 g5 |
4 The factors of x* — 5x + 6are: I
_ 2 o i
(2x — 3y), (4x_ 9y?) B (2x+3y),(4x2+9y?) A - Sz L8x3 + 27y3 !
> Y Factors of 8x> + 27y3are: i
(2x — 3y), (4x 2 .96 i
(2x + 3y), (4x* — i
toxy D 6xy + 9y?) v ¢ ;
+9y?) [
1) ((;Cx—-l_ 2) (x—1),(3x (x+1),(3x (x+1),(3x _w—QﬁLIZILsz ok Al 97 |
N —2) +2) —2) Factors of 3x* — x — 2are: '
(a? — 2b?%), (a® + 5 (a — b),(a + b), (a? A o Lozl at — 4b
2 2 : i
2b%) v : b+ 4b2) Factors of a* — 4b*are: 98 |
(a-2b),@@+2p) D (@TRHATEIE :
L S SENL L tE ,J69a2 — 12ab
—4b* 4b* v 16b* —16b* What will be added to complete the -29 I
square of 9a® — 12ab?
2 Lol S + 4x + md L =d S U m i
16 4V —3 8 Find m so that x%+4x+mis a -100
complete square. I
(x —4y),(5x — 3y) B (x + 4y),(5x + 3y) A Y. dPmL5x% — 17xy — 12y2 101
(5% = 4y}, (x + 3Y) D (x—4y),Gx+3y)v C Factorsof 5x2 — 17xy — 12y2are: .
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I 1

1 ]| 3x ——],19x“ + 3+ — i
: (Bx + ;),(9;(2 +3 - x—z) B ( g x) (‘j ) A d’i“'ﬂé 27x° x3 - :
I 1 1 1 1 Factors of 27x3 — — are: - I
I (3x+—),(9x2—3+—2) D (3x——),(9x2—3+—2) C % i
: X X X 5 X ‘ ' ]
: H.C.F  px)xqx) UIA&B 3 = Sy ;% pakcity.org %c fe 4LCM 100 |
| p(x) xq(x) HCF BothA&B None of these L.C.M=? A ' i
Il a+bp | a*—btv | aP+BE | ai—}? o Jidkat —blaa? —b? 40, |
I LCM of a — b2 and a* — b* is i
: 2(x2 + y%) 2y Xy et Jﬁy s i
I 2 x2-y2 5 5 a— o105 |
I X% — y? Xe—=y Simplest form of 22 _ I, i
| X=y X+Yy i
| f—x—6 :
I X —2 X+2 X —2 X+ 2 —LJ{/JU&;J 106 |
L — 2 . =
| - - — _6 |
i x+3 X+3 St A= Simplest form of xxzfg is: i
CAie(4x* — 12x + 9)
! (Z2x+3) (Z2x—3) +(Z2x+ 3) £(2x = 3) 3 107 |
I v The square root of (4x“ — 12x + 9) I
i IS: i
i i . , o Bhupkx?—1+-% ;

1 xX

I i(x——)t/ +lx +— X+ — x + — .108 :
N 2X 2x Zx 2x 2 ; [ N
i \ The square rootof x* — 1 + — is: i
[ 3 2 ’ 542 — 125 413 — a3 i I
| Pa® ey pap-qv PI@ e hepSq® — pPatapdq —paPut [0 |
| —q°) —q“)  H.CFofp3q — pg3and p5¢? — p%qSis: :
5xy 100x°y> 20x3y3 Gxty v/ _?_(”!;bKZOx?*y?’mezyZu}f 110
H.C.F of 5x?y“and 20x3y3is:
| x4+ 9 X — 7 X+ 3 %+ ¥ & AN fl”uwx +x — 61X — 2UH 111 I
I —6 HCFof%}Zandx + x — 6is: i
E a2 + bz (a . b)z az T ab + a+ b \\\/-L (‘Ml)laga ab =ty sz}'ag I b3 112 E
b*v ‘H\Cfli\ofa + b*and a* — ab + b?is:
x— 2 ey —— ()”I;Wx — X —6sx°—5x+6 113
I HCFofx — 5x + 6and x* — x — 6is: I
1 a®?—ab a’ + ab . (}”I;Wa — b3 sia? — b? 114 [
|l +b? + b? H.C.F of a®? — b?and a® — b3is:
(nguKx2+5x—|—4mx2+3x+2:x2+4x+3
g E:CS AP '« 115 |
: HCF of x*+4x+3, x*+3x+ 2and -
i x? + 5x + 4is: i
| 15x%yz 15xyz 90x°yz v/ 90xyz - J1eni30xyz45xy15x° 116 |
] L.C.M of 15x2, 45xyand 30xyzis: i
; a—b a* — b* v a? — b? a? + b? - Sidnisa® — b*ia’ + b7 117 |
i L.C.M of a® + b?and a* — b*is: i
| I S 37 fe I e e f
i P;ro At glgtiont s’ Di%ference Sum The product of two algebraic expressions is -118 [
I equal to the of their H.C.F. and L.C.M. ]
| a 1 i
i b 4a+b v, 4a — b 4a '%’ ) ASE, 9q2—p2 + ga_b,laf 119 i
1  9a? — b2 9a?—b? 9a? — b? 9a? — b? _ ' I
: Simplify a2 2 T > i
| +5a—14 a+3 I
i a— 2 a+ 3 a+7 a+7 _%—;Wlﬁz 3a—18 E 120 |
I a+3 a—6 a— 2 a—6 Simplify = a‘+5a-14  a+3 I
! a2-3a-18 a-2 . ] I
I b® . a 2+ab+b :
' a+b a—b 1 1 7 s - JW'g; bt @b 191 |
| a?+ b? a? + b? a—>b a+b —b° | a’tab+b® ' i
: Simplify = - s = :
| - 2x+y ) N ( _ L) .
E EV X y X -%. JL«?)’K ( x+y 1 . 1 x+y 122 :
| y X X+Yy X+y Slmphfy (2x+y - 1) o (1 — L): | :
! xX+y X+y i
_6.-. (R I (T (e e ) () e (e s e s ) ) [ ) T ey ) ) e ) (s (s s V) s ) T (e s ey (s e (e S ) ) (e [ ) St S ) (e s e (e e [ T e S [ S ) e [ e S (L) T -.5
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I T I
I a+1 a-1 +ta-1v/ +a+1 = C k€ a?-2a+] 123 [d
i The square root of a2-2a+1is: i
: e bl S B Xt + 64 Lz E
4x? 16x*v —8x* 8x What should be added to complete the square -124 [
i of x* + 647 ;
I Lo xdg] x4 i
| #x2-1x2 +x-1x +x2+1x2¢/ +x+1x T CAEE X142 e |
The square root of x*+1x%+2 is:
| b=o0 b=0 a# 0V a=0  Adnesdaddiax b =0 1 |
I ax + b = 0 is a linear equation, where I
: et < QU JoeberndeblaF Szl i
I e S Sl =il C L‘.fu Th O« St d.(d) J’ - I
I / <4 e root that does not satisfy the equation is I
| Solution Extraneous  Root of called 127 |
i Set rooty’ equation None of i
I these -
i 4 3 9 1 T EEREEUEE ..f;pgd"l{:,l,b»/;;x —2<0 128 i
In equationx — 2 < 0 has__ its solution set: I
I J/&«Jb /f'.’::Ula /f/d/’: n..’:f/;?u}(.ﬁ? ?LI/J/U-"'LJ/}(&LLLG JQ’.«’JL»"/:; i
I ™ John Henry Thomas  Who introduced the symbols of inequality? 129 [
| Jobst Burgi : . . I
] Napier Briggs Harriotv/ -
E 6[5.(_):&1 0w fE3 —4x < 11:«13[.-«'/:,;)%&5;){::.,@0[ E
& 3 1_4 5 _g ;NEIZI; 21‘11e1 ?is the solution of the inequality 130 F
1 None of 4 = I
| thesev
f . Y 8 2l fiffa st < > 12 Pukds i
il BRI sls J 7 ud ' ) ]

= =l 7 < sl i
- Linear Inequality ~ ind o -¢-(5M A31 |
| Equation v N s Equation A statement mVle1ng any of the symbols <, >, I
Identity <or =is cal.led.
: ;A,JVGK_.WJ"L 2<x< bl gx = |
% 0 3 ij:-» 'is a solution of the inequality 132 |}
: 2<x<~- i
| x>10 x<10 x<10v _x>8 Jua2e 102402/ 40 f
: AW [f x is no longer than 10, then: I
i - < 1600 \\\\:5 5043, 1600 ki nsl )¢/ 1S 2 4§ ed ] i
| ¢>1600 Y c 2\1\600 ¢ <1600  If the capacity ‘c’ of an elevator is at most 1600 -134 |
I pounds, then: I
fl| *~<=Y | xi3<0 | i<l x>0 e e S L M gX =1 | o |||
i v x = 0is a solution of the inequality: i
[ I v I 1 | S Ge I SO 3 DE 156 |
i The point (—2, —3) lies in quadrant: i
E u{’ L} Uf. Jl..‘.’ -UEL!‘-@J u:d’p"g 137 E
i One Two Three Four ¢/ Thereare__  quadrantsin a plane. ' i
; o ue y- L C}‘JUv;,’, @Jl/v _9@’30':_(2,0) L3 E
i| I axis 1st 2nd Point (2,0) liesin ____ 138 [
i y quadrant quadrant i
E _ y- 3 C}‘JM @Ji/’» | | -é.c,ls (0,2) & E
i oaxi i 1st 2nd The point (0,2) lies: 139 |5
I XIS y-axis quadranty  quadrant I
E F = EC i F € € _%ydyﬂcidél[c))ﬁdﬁﬂluf){dﬁ E
J 9 9 9 Relation between degree celsius and degree 140 |1
i 32v ~ EC —3Z2 = §F o= EF ~ 32 Bhrenheit is: i
] 0.5 3.5 2.5¢/ 2 | wlaAZ el 4 |
! How many acres are there in one hectare? :
i 2 1v 3 4 | | SEIC LB BfsF 14y |
| Two lines can intersect only at ___ point: ;
I L Iy i e QU*L/(CJ;}/ BB 143 |
One Two v/ Three Four How many lines intersect at one point only?
| -L-» @y -1  (L,-DV Ay =1y +1) = 00 1., |
I f(x—1,y+1)=(0,0), then (x,y)is: i

| B e T e e e ) ) ) ] R T e ) [ I ) e ) i ) ) S s [ 1 [ e e ) R S ] ) e v [ e ] il Y e e T () ) [ e ) ) ) e N T e s ) et e e (] e W s e 1)
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e 14(2, y)7x(x,0) = (0,y)./ |
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(1,1)

Vv

IV

5v

(0,1)
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5 4

&
* -
_"wL"

Triangle ¢/

55

collinear

V2 vV

4
J i
Congruen
8

Wy

One

360°

4
S

Congruen
t v

Qe $iise 2

Non-
parallel
sides

Triangle

(0,0) v (1,0) (0,1) 145
If (x,0) = (0,y), then (x, y)is:
I I 1 G FOLEH(2,=3) B 446
Point (2, —3)lies in quadrant:
118% Il 1 UL (23,238 4,4y
Point (—3, —3)lies in quadrant:
4 3 5 e A 2yIny = 2x + lax = 2/ s
[fx =2,y = 2x + 1thenyis:
?+5134J1;£y = ZJC:.JJL/,EEJVU:(
(2,2) (2,1) (1,2) ¥ Which ordered pair satisfies the equation -149
y = 2x1
_%J&c_bl?ﬁﬁiﬁ/f_-______&u&._g
2 3V A triagnle is formed by non-collinear -150
points:
fr/l’} C ey $1s# ﬂé[c.dfdl _%JL&( ______ f#dbb@bﬁ/{j
N : Parallelogra None of A closed figure consisting of three non-  -151
Straight line . il
m these collinear points is called.
Jpr?/:f S5 djl?/-; _UJLMLLE" u;’.uﬁals,;bﬂﬁugb@dfﬁ
non- ~rallel n ara.ilel If three points lie on the same line, then ~ -152
collinear P P these points are called:
2 1 0 - yGug»L(l,l)m(0,0)bL‘a‘ 153
Distance between points (0,0)and (1,1)is:
_\/E v 1 0 - Hobdle06(0,1)01(1,0) 4 154
Distance between the points (1,0)and (0,1)is:
(0,1) (1,0) (1’1) / -%— JL“JJL/'JJK(Z 2))}'(0 O)JJLPJ 155
Mid-point oft%e;pomts (2 2)and (0,0)is:
—7) — { (:, )
Ml;gl\mnnt of the pomts (2 Z)and (-2 2)15
. } >
@L&.’Uld:l.-» CMUIJ“W u"LJldsL)/\ Lu _c;.dUw( 59 yﬂ/dUJCLlﬂleLJ’J._{I
Equilateral \ A triangle having all sides equal is called: 157
Scalene Isoscelés
v . \“
DR TN y\ﬁuwsu . f}‘f“‘( N, ‘fg"‘di_‘ffw'r“fi‘ﬁlfz‘ﬂ"g 158
Equilateral Scalene‘\(\’ Isosceles g c TV od! sides difterent 1s catled:
< \m .
25 e’ == The sign "=" is used for rqu = 150
Equal Approximation Correspondence N — SO '
. =il St -l
Perpendicular Lis the symbol of: .160
v Correspondence None of these
I3 u.{: /e _Q,?Lﬁejlj_éﬂugl 161
Two Three v/ Four A triangle has angles. [
:é.l:‘ﬁ,uf- Kug:l}&ujiéw
180° v 120° 60° The sum of internal angles of the 162
triangleis __ :
SELEELF T o b
3 y/ 1v How many lines can be drawn 163
through two points?
i =3l U:"/J/C-—U:U’ _u}LﬁCMIJlﬁ’ig%J U"‘%;l)»cﬁ&i}"d’(/ﬁ "
Perpendicular Correspondence None of these Ut Lo gRTES 0f g LClaligle ATe canpruent,
P P then the sides opposite to them are:
. vl Al e $o5
W' )’!/ - 5 . 7 -
{1;, 5 radll al S350 VAR of a parallelogram bisect each 165
) Diagonals ¢/ None of these other:
sides
C ey (§1 5 e . ..ujLnJ&L?-'Z,M._ﬁJl?uﬁ k!
e ~2) 733 . : . -
Parallelogra . Opposite sides are congruent in a: 166
m v Rhombus Trapezium
et Y u.?/(j[c:..gﬂw - JL)"EJ&L?‘ ________ LJ,’.‘K/ 167
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I. .I
| Diagonals Heights Bases None of these of rectangle are congruent: I
v
7 5 2 3 v AtIndles Lok og
The triangle has medians:
d?/é/c:..u:c)l _Lt‘ﬂ‘,(,_ﬁ‘l:dJ/Z, ul./l/:zf,u’l}( Kof’ljo’(
¢ : = N
J 2 P 7 -4 The centre of a circle is on the right bisectors of 169
Radius  Chords ¢  Diagonal Noneof ¢€achofits___ '
these )
Ll23 /J/,/;f:} ,{l/,uf ,{l/;/;’gf _é.l:‘/(:" u:u,*“‘?_i/b'ugl._fv"td)/
Two equal Two Three Three A line bisector divides the line segmentinto__  .170
v unequal equal unequal  parts:
Jzﬁf/s o “Op’(f( Up/f-'-'-—ﬁdf -c:;.lt‘zﬂ’c.. LLS:J‘L’()';/
Mid-point ot _a _ ¥ Line bisector of a line segment passes its . 171
W, Edge Any point _
None point

oo 15 brs e bl il $orf L5 o5 L2 58S
oy AT J e B bl 172

Mid-point Endpoint Vertex¢/  Anypoint Apy point on the right bisector of a line segment
is equidistant from its..... points.

f 4 3 2 1v o e 8L Lo 10 |
H How many mid points a line segment has? i
12 A 2 S . __9&,»/:4_&%.&;/&_/3 ALyl__87 174
Il Radins Chiords Dissonal | Centers? | DE of circle is on the right bisectors of each - ]
: 5 of its chords. :
: LA - E N i ot Ll el 0
| J L
| Concurrent Radi Chord Di | The perpendicular bisectors of the sides of a 175 |
i v adius oras 1agonal  triangle are: ;
1| IS I ) 3 Wl L2 ki (] z
: IS S 7 ¢ o ;c}LL/ U L L o* ;
| Isosceles . Right A triangle havﬁlg two sides congruent is called: -176 |
- Equilateral Scalene i
i v Angled RS \ \; & i
E u"w 53 ﬁ'f/ Oz $i1 8 \\\E _L(}Uv'( %90° ,-«3IJ/KJ>J}(?~..L/I E
i *Joe J33 i
i . Rectangle Parallelogr\ @thadrllateral having each angle equal to 90°is -177 |]
1| Rhombus Trapezium i
i v am W\ Scalled: i
i o (:\\ j - o . ‘ ol . (& i
i ¢ ~J¢ ( C }‘GCC 1% }’"CC_“wL" i}
I Sika = LA ~ &"Lr’ _ _ BEA____ e _ - I
- Concurrent ' The right bisectors of the three sides of a -178 [f
1| Parallel Collinear~\ ongruent . i
i 4 AN triangle are: i
1| A ) xu}*\v‘ v Lt L ale AUl E
| 4 e a
1 none of N The altitudes of an isosceles triangle are 179 |
i four three Two v i
I these congruent. i
E £ Lbi.xgu’lonf.@wld)lf»c:,u:/“élzﬁﬁgj/ﬁﬁug E
| - ) 2L ($rafF . r . _
L ,-.«3 ) - -y L
I - Perpendicu Right- . -b#01 180 I
| Median lar bisecior o Bisector A point equidistant from the end points of a line- i
I segment is on its: i
f G e dt et S e b L L ads }
5 X a & = - 181 |
i Two Five Four v Three congruent triangles can be made by joining i
I the mid-points of the sides of a triangle. I
i J/ & ) o g gl JA./»..Q}';LCMMJW i
Y 2 s st e The diagonals of a parallelogram each 4o,
I bisect at . . other 18 i
I these I
; Al S T S fié s L al [
1:1 1:2v 1:3 1:4 The medians of a triangle cut each other in the ‘183 [
i ratio: i
N3 Jeguu‘uiw-‘a.wo,31J44;xw£wﬁuld,w
1 1200 v 90° 60° 30° ‘< 184 |
i One angle on the base of an isosceles triangle is i
I 30°. What is the measure of its vertical angle? i
| A BN P94 Ckeyi Ssla e eladpf o UF L ee (i 185 |
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Acute [sosceles Right Equilateral If the three altitudes of a triangle are congruent,
Angled Angled v then the triangle is:
g:lﬂl'b';la ,._,M’ly’l? £l Sole U’EUUJL; -(f!c' wu?ungu%;;_wm;éw,gﬁ
3
Acute Right Eauilatersl Isosceles If two medians of a triangle are congruent then -186
Angled Angled quitaterd 4 the triangle will be:

Subjective Portion

a@ pakcity.org%o

Q.No 2: Short Questions

Find the values of a, b, ¢ and d which satisfy the matrix

:w&”(;fﬁ':.w.n/&blzéxdu?é(#’ﬂJdﬂlccbca

. a+c a+2b 0 -7 N _ 1
equation: _ a+c a+2by] [0 7
! [0—1 4d—6] [3 Zd] [c—l ad —6l ~ 13 2d
Veriby thar it d = "é i'andB = % é-,then: (AN =A (4D = ASEIAIB = ; é' A = '(1) i |
Verify that if A = (1) i"andB = % é-, then: (BY)! = (Bt = BS & (J.9IB = % (1) »A = (1) i il 8
I1 2 21 cpsn_[117
If B = | . Jthen find B + | | B+ || sEeriB= || 4
IfC=[1 —1 2]then find(—2)C. (=2)C :Zr#inC=[1 -1 21/ 5
, . [0 71 . 1 —21-
fA=[r andB =" 7] then find:24¢ - 3B EerinB=| "y olwa=|3 A ¢
3 4 —3 8 2At _ BBt
LN 10 2 4 1 br
Ao, = +3 Ji
o7 9)=2[2 o3[l 2] oenmasaan. e 1)=205 ad*3k S,
18 1 -3 \ QQ e Ut b
Lo s,? ks <[ Laa<[! 25
ifA=[ j|andaB =, ] then verify thatA+A%Sb A+ ATEGIB =, laa=]0 1)) .
symmetric. ce IS
) 1 1 1 21¢
IfA = [é ﬂand B = B ] then venf?'\@t — Atis 1A — AtfédﬂmB = [2 0];;1/1 = [0 1]/! "
skew symmetric. e IS F
\(\& 1 1 1 2
IfA = [é ﬂandB = E é] then verify that B + B'is 1B + B S EJ457xB = [2 0]”’*4 = [0 1]/’ 10
symmetric. e S
Find the product: [1 2] [g‘] 1 2] [g] e el 11
1 214 = 1 2
Find the product: (-3 0 [[~ ° | —3 0 [ > | g 12
e _q|l0 —4 —4
5] 5
Multiply the matrices: [8 5] [ 2 2 ] ’ _E] :éfﬁ”d" LA~ 13
6 4l|_ *
Find the determinant of the matrix: B = % _32] = ] Z/r}’”cw ke 14
Find the multiplicative inverse (if it exists): A:{‘; 3} A=[_21 (3;_ :(yzuﬂ ﬁ)é(PJPQ} 15
3
_ s o3 Sanbysid &
If[a+3 * 1=[ 3] then find a and b. [ beii|" g —1] [ ] 16
b—1 6 2 Py
2 S ein_[5S —4 2 3
ifA=[% SlandB=[> % then find:2(24 - 3B) ;@A- g =2, Tilaa=[7 (1S,
1 0 -2 -1 3 38)
| 12 1 4 =2 2 1 (4 =217 . .
Find the value of X, if [5 | +x=[" "7 5 )+ x=| T)i-gerxon 18

m()

| U ) | | ) ) S (S L o) (1 o) o [ ) ) | (o [ | [ S 1 || ) o () [ o 5 1 () G ) | o o) ] S V{1 | (S o o (| [ ) ] o o ) | o [l () ) ) ) o ) ot o ) s\ | 5} {1 ) ) o, o o o e o o) o) [ o o | ) o ) o o | o | o [ [l o |
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OF = = e e e e e e i i e e = = e = e e = T = e e e = e e il e s e = el = e | i e T O e e e e = | = T e = e e e = = e e =l = = = = == -O
l L] | o [
u u

I

Define scalar matrix. Give an example.

Define multiplicative identity matrix. Give an example.
Define singular matrix. Give an example.

Define non-singular matrix. Give an example.

Define equal matrices. Give an example.

Express the given decimal in the form g, where p, q €

Zand g # 0: 0.3 = 0.333......

Express the given decimal in the form s where p, q €
Zand g # 0:0.23 = 0.232323.....

Express the given recurring decimal as the rational number

g where p, qare integers and q # 0:0.67

Simplify: 3/ 16x*y5

5/(3
Simplify the given radical expression: ,3_2

8
Simplify the given radical expression: ’ f -

EJeioZ oy S A 19
e gy A5 20
_Eaded gy i 21
EJedi gy Nt 22
_Eade gy S e 23

:q # 0./p,q € Z,,G.“é/;w¢fd/§ﬁxd;b‘ﬂ

. 24
0.3 = 0.333..:: =
:q # 0sip,q € Z 525 /;w¢ﬁd/§,6,wum .
0.23 = 0.232323......
:umr,wléaq # 0xip, q,?.“é,;u;uig s P F >

0.67
Y16xtyS ZUdr it F S 27

= e Frd P 28

32

== Edea B P 29

27
Use rules of exponents to simplify the given expression JV‘”,}. DS ol S LG
and write the answer 1n terms of positive exponents: (N (it il R =
x~2x"3y7 A A x~2x"3y7 30
{'\Eiiff\ M oA (U
.\ N o\
. , ; o 3 P\ U 3 o ie i me
Simplify by using laws of indices: (E) \,n((\} (E) :Sn A e 4 SLiF e 31
‘-\:J Q‘fj\,__/

Simplify by using laws of indices:

Use laws of exponents to simplifﬁ\_l;(fxz\x5y‘4)(—8x—3 y?)

—~3

x—Zy—lz—4)

Use laws of exponents to simplify: ( P

Simplify: 52° + (52)3
Simplify: (x3)% + x3°,x # 0
Find the valueof x and yif x + iy + 1 = 4 — 3i.

Simplify and write your answer in the forma + bi:(\/5 —
3i)?

Simplify and write your answer in the forma + bi:(2 —
31 )(3 — 2L)

- , , . =2
Simplify and write your answer in the forma + bi: g

Simplify: \/81y~12x~8

Simplify: \/25x10ny8m

275,000
0.0025

Express in scientific notation:

What replacement for the unknown in given will make the
statement true? 10P = 40

4(3)" ) L
371-51)_371 :‘..5?'//‘;’ MJL‘J.{U’J:V:A’ 32

(2x5y~4)(—8x73y?) & F o S Lil s 33

x—2y~1z—4\ "3 & P o
( x4§_320 ) tj{ & }AJU:U’LVG’-}’ 34

52° + (52)3 : &£ 35
(x3)2=x3,x#0 :&Z & 36

x+iy+1=4-3i i =dymx 37

(V5 —-3i)?% & tF Sa+bi 38

(2-30)(3—-2i) &~ Fda+bi 39

—2

— :ZE g FSa+bi 40

1+1

VBly g8 2 41

\/25x10ny8m “é/}% 42

275,000
0.0025

:’éu:(f}’u:"v 43

107 = 40 Wnernublbd Lady/Gpkr 44

| I I e e ) e e e e [ i e e T [ I e I ) = e e [ e e B ) = e e e e e e ) T T () [ e i s It B e e [ = ) s e e [ i s [ I s i s [ B S e [ e e 5 ) e e [ [ i e T e e R T e 1 [ e e ) i e e e T [ [ e e (= T O S e e e e e 5 T s e e ) e e [ e T i B e T = e I e = = 0 e e e S e e = ) =
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. . i i , %
Find the value of x: log, — log, - AT OV,
Find the value of x: log 5 12tothebase2+/2 “’% pakcity.org %" log 5 12tothebase2/2 :é(PJ
Find the value of x: logg; 9 = x logg: 9 = x :“ér:b”u:d/x
Find the value of x: [0gg, 8 = % l0ges 8 = g AP PN

7 7 e @ Z 4
Write into sum or difference: log ? ’E log ? ’E :é@f’gﬂ)}&&ﬁi/zw
1 1
o , (22)3 22)3 o e s )
Write into sum or difference: [0g 53) log ( =3 ;éu:‘ﬁ&)/gf_ﬁ&/;w
Write in the form of a single logarithm: 2 log x — 3 log y 2logx —3logy :ﬁ/ﬁfgf(;{;{)pb
Write in the f f a single logarithm: = s ¢ ¥
lo;ﬂ;mte orm of a single logarithm: log 5 + log 6 lag 5 + g6 — log 2 :£¢fJf,g;Mi,
Find the value of x: l0ggy5 5 = ix l0ggr55 = %x :“é(P;J;'Jx
Find the value of x: log x = 0.0044 log x = 0.0044 :“ér:l’*‘w:‘fx
Calculate: log; 2 X log, 81 log;2 x log, 81 iér’“’—%’f
Calculate: logs 3 X logs 25 logs 3 x log;25 :g&pked
Reduce the rational expression to the lowest form: NI
13055y 2> é\gxgyzz 2 ATy B
30x3yz? /QQ 29Xy
, _ 8a(x+1) \{ O 8a(x+1) ) b -
Reduce the rational expression to the lowest form: > (x2—1)0%<§§, \ 20P—1) “id,',/v 0.4 007 4 P
Reduce the rational expression to the lowest form: [ @ ek Ay . )
(x+y)2—4xy ”’D@ ) “édfuffd}./’/"(zdb[-
(x~¥)? @/
2 4 RN % 2 4
Evaluate 2% forx = 4,y = -2,z ;ﬁ\iﬂg x=4y=-2,z= —1?@’/{'}1’":—‘4‘:’.? s
XyZ 2 \B\/ XyZz

Perform the indicated operation eﬁ% simplify: -

4 2x—3y 1Ay, |\ < :éﬁ?LﬁL/ﬁ“Jszgj

2x—-3y 3y-2x

3y—2x
Perform the indicated operation and simplify: (x* — : "
5x+2 : P (x2 — 49). DXt “é/"yc..fié)
49). xX+7
x+7
Express the surd in the simplest form: % V128 % V128 2 u:f'@}' A (" i,
Simplify: 3/243x5y10215 2[243x5y10215 5 57
Simplify: £ Y125 LVIT5
L 1 1 1 1 .
Simplify: (\/7 + x/_i) (\/E - ﬁ) (\/7 + E) (\/f — \/_g) S5 27
Simplify: (Vx + /y) (Vx — /y)(x + ¥) (x* + y?) Wx+ ) Vx = »x+ )% +y?) &4
If x = 4 — /17, find— e = 4= V1T

Q.No 3: Short Questions

Factorize: 144a? + 24a + 1 144a® + 24a+1 2§75
2 2 2 2 .
Factorize: Z—z — 2+ % Z—z -2+ % N

47

48

49

50

Sl

52

53

54

55

56

D7

58

59

60

61

62

63

64

65

66

67

68

1

2

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

R [

Please visit for more data at: www.pakcity.org

o)

| U ) | | ) ) S (S L o) (1 o) o [ ) ) | (o [ | [ S 1 || ) o () [ o 5 1 () G ) | o o) ] S V{1 | (S o o (| [ ) ] o o ) | o [l () ) ) ) o ) ot o ) s\ | 5} {1 ) ) o, o o o e o o) o) [ o o | ) o ) o o | o | o [ [l o |

Om



OF | T = e e e ) e = e e e s e e e e ! e e T e e B | e e e T e = e [ e e e e ) e e O e e e ) [ e e e e e e e e I e | ) e e e O e e T ) [ ] == e ==

www.pakcity.org

DMathematics Guess : Class 9th

Factorize: 12x% — 36x + 27

Factorize: 3x* — 75y?

Factorize: 128am? — 242an?

Factorize: 3x — 243x°

Factorize: x% — 11x — 42

Factorize: 5x% — 16x — 21

Factorize: 4x* — 17xy + 4y*
Factorize: 125x° — 216y°
Factorize: 25m°n” +10mn +1
Factorize: 1-12pq+36p°q°
Define remainder theorem.

Define factor theorem.

Find the H.C.F.: 39x"y’z , 91x’y°Z’

Use factorization to find the square root of the
expression: 4x*—12x+9

Use factorization to find the square root:
4x> —12xy +9y”

Use factorization to find the square root: A,
A\ ‘2/
x> —1+—, (x 20) NS
4x° A%
Use factorization to find the square root: -\ ©
1, 1 l AN
—E° =Xyt — RO
S RO
2\ ~
. 3x x—2 25
Solve the equation: —- =
2 3 6
: X=3 X=2
Solve the equation: — =-1

3 4

Solve the equation and check for extraneous
solution, if any: J2x-4-2=0

Solve and check: [2x+3|=11

Solve for x: % 13x + 2| —4 =11

Solve for x: [2x + 5| = 11

Solve the inequality: 3x + 1 < 5x — 4

Solve the inequality: 4x — 10.3 < 21x — 1.8
Define a linear inequality in one variable.
Define extraneous roots.

Define an inequality.

Find the value of m and c of the given line by
expressing it in the formy=mx+c: 2x+3y—-1=0

12x% — 36x + 27 2567
3x2 — 75y% i gGF
128am? — 242an? :ZE$7
3x — 243x3 25

x2 —11x — 42 25
5x2 —16x — 21 (7
4x% — 17xy + 4y? :ZE64
125x3 — 216y3 2547
25m’n® +10mn+1  :&E$F
1-12pq+36p°q>  :ZE$%
gy oL

Sy PUE

39x7yz , 91x’y%Z 1 b

4x* —12x+9 :di:r}b’d/’ljﬂd;,}f,u
) 1:__,.. . (_ J\\
£ kj NP 2 @
Ax5 12Ky +9y GO e 2k
N\ ¢
» s ? 1 )
K=l (x£0) :Z P B E 2
X
1o 1 1, N
— X —=xy+—y i Z PG 2k

16 12 36

3x x—2 25 TRy
—_ — : ‘s “'L”‘
y "3 e EJAe
—3 -2
X3 _XZ =-1 g e SEenl

S Jer S S0 F S el
Y2x—4-2=0
2x+3 =11 :ZEE Jeym o enf

%|3x +2|—4=11 :épbfq«d"uuu

2x + 5] = 11 :Zpkerflents
3x+1<5x—4 :Z S eil g

4x —10.3 < 21x — 1.8 :(EfSenl g
BN ST Y-y o

Sy S

Sy el S

SC mim LSt y=mx+c fablanys

3

4

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

29

30
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www.pakcity.org GMathematics Guess : Class 9th

2x+3y—-1=0 :”ér;b"‘gf‘f
Find the value of m and c of the given line by Senm L Sty =mx +c S ebledns 19
expressing it in the formy=mx+c:2x-y=7 Ix—y=7 :ér,l,,fg
Verify whether the point (2,5) lies on the line VG 2%~y +1=0 FUE L oo\ S ZEJud -
2x—y+1=00r not. (2 5)
Define an ordered pair. Give an example. ety i 34
Define Cartesian plane. -“ébg}'Jdﬁfu*"/K 35
Find the distance between the pair of points: 1,4(}” Lol n LUt L b 36
AC4.42).B(4,-3) A(-4.2) B4,
Find the length of the diameter of the circle having sl C(=3,6) 867 67 2 t:3HSE B Loib L
. . 37
centre at C(-3,6) and passing through P(1,3). e L P(L3)
Find the mid-point of the line segment joining the 2k & L 16l B e S Ui b6 38
pair of points: A(-4.,9),B(—4,-3) A(—4.9). B(—4,-3)
Define coordinate geometry. E oy Sl rasilsd 39
Define collinear points. _”ébg/?gﬂ,lﬁ&u(’c 40
Define non-collinear points. A E IS a 41
p /\fe/\%\ e (A
Define isosceles triangle. \/\O@ _é_g}'gfwyfuﬂu,u" 42
N
O \, . & o
What is meant by congruent triangles? @% - Ceil P =S 43
What is meant by S.A.S postulate? / @%ﬁb Cesl e o6 fi S 44
(O
Find k, given that the point (2.k)is e gidistant (9,1) 41 (3,7) b8 (2,k) B B pdr e dfk AE sE
from (3,7)and 9.,1). gg\} e bl
Define coordinate axes. -;é_.@ P Jb#jq%.ﬁji'/ 46
Define origin. SEw Sl 47
Define collinear points. Sl S 48

Q.No 4: Short Questions

Find the value of unknowns for the given éf Jor 13 x sl 1 o 0 feds 1
- J /3 <~ .

congruent triangles.

Define the bisector of an angle. _E oy et 2
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TlfTTITTi]FFIIfII'lII'JTI'I]T]TTT]TI']'IITI'II'[]TITTTITT‘JIT[!TT'[]"IT'[]rFT]TITI?TTTI"I'[F[TTTIIFTT!

If the given figure ABCD is a parallelogram,
then find x, m.

D C
(5m + 10)° 11x°
55°
A B

Define the bisector of a line segment. LSy P ekl a5
Define the bisector of an angle. RS 2

- “"*..‘b..é 7.4 M'&&Lﬁ‘ BV
Which of the following sets of lengths can be the = ulures VL 12 LS o

lengths of the sides of a triangle? ??&Cw@w
(a) 2cm,3cm,5cm

(b) 3cm,4cm,5cm
(c) 2cm,4cm,7cm

2cm,3cm,5cm (a)
3cm,4cm,S5cm (b)

2cm,4cm, /7 cm (¢)

3 cm, 4cm and 7 cm are not the lengths of the _ f/; v % it §0 o & eds s 7em sl dem «3em
triangle. Give the reason. o

_é.f_wt.’o:
Define congruent triangles. oy e S e
Define similar triangles. _“é_%}/'(fuw-,w
Verify that the Ashaving the given measures of =+g:'7'v’l§'&iﬁ~f§3ﬁ-wéfdaugwJCMzi&wf‘*

sides are right-angled:

a=1.5cm,b=2cm,c=2.5cm a=l.5cm,b=2cm,c=2.5cm

A ladder 17 m long rests against a vertical wall.
The foot of the ladder is 8 m away from the base
of the wall. How high up the wall will the ladder

reach? @ N
Find the value of unknown x in the given fl,gufte ¥ :éfﬁb’a‘f J X r}”l:uffj' uf 52
e 23
\ N
S, B o
Find the value of unknown x in the given figure: :“é(}’”:wgd/x r#’buﬁf’ﬁ:’;
4 cm
Find the area of the given figure: :;érPJJKffd;

3cm

6 cm

e e S m aix Inflengne LI ABCD St fEs 3

10

11

12

13

14
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OF TlfTTITTi]FFIlfII'III'JTI'I]T]TTT]TI']'IITI'II'[]TIT]TITT1IT[!TTTT1TT]rFT]TITI?TTTI"I'[F[TTTIIFTT!
" =i
| Find the area of the given figure: :é{i:(}b”g'/(f Fs 15 [
: % pakcity.org %c !
I 4 cm I
| Find the area of the given figure: :“é(}”,;i;{f&/ S5 16 |
I 8 cm I
| 4om ;
| Find the area of the given figure: :;érk”g’;(ﬁfd; 17 |
5 10 ;
: 16 cm
1| Define the area of a figure. ?g_;l/ga;.,‘i%y&fd; 18 |
| Define triangular region. (SN E 85 1|
i L2 ) . [
| Define rectangular region. \ ©) SEw A ,}:&“’ 20 |
V-
I AN\ - . |
| Define altitude of a triangle. (5\1\,\ W) Sl P Lageds 21 |
I S I
| Define interior of a triangle. <N L\(J Cesl e cnnibads 22 |
l P\ U ‘ " i
. R -
| Construct a AABC, in which: \(\\}‘ - J & AABC 2 |
H A= oem, M- =3 e, mAT :%\ t‘%\ ¥ mCA =3.6cm . mBC =3.9cm . mAB =4.2¢cm i
: o R i
| Constructa AXYZ, in which: \\,_;;\“\}’ 0~ LB & b AXYZ o |
| Define the incentre. Sy %) /Ju,m 25 |
| Define the circumcentre. E A, 26
| Define orthocentre. _SE W IEAET] S 0 2T
| Define centroid. S AlaA 28 |
1| Define point of concurrency. ES S 29 |
| The three sides of a triangle are of measure 8, x =3 Ex 17 i x 8 o AU S e £ et L
1| and 17 respectively. For what value of x will it ) . é‘ S 30 [
. . Q 7 . A & [ Jiw < oo
| become base of a right angled triangle? WL boraslb el s /60 o L i
| What is meant by converse of Pythagoras : :
] 4 ythag ?c_;l/lr(c_&sz‘fﬁf 31 |
1| theorem? T I
| Define Pythagoras theorem? eSSy S e 32 |
| Define similar triangle? oSy S ur"‘f" = 33
| What is a cyclic quadrilateral? sl Ve S B 34 |
| Define bisector of line segment? eyl flanl a8 35
6.-. I 1T T [ T 1§ T 1 1 1 [ [~ 1T [ [ 1 7T 7T 7T 71T 7§ ¥ T ° §° ¥ T 7 7T 7 7T T 1 § T 77T 7T 1T ¥ © [ ¥ § 7 7T 7T 1T 1§ [ ° 7 ° 77 §° 1§ [~ 1 ¥° § [© 7T " § [ §© 7T 7T ¥ ¥ ¥ [ T 1T T [° [ [T .-.5
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The given figure LMNP is a parallelogram find e od S nustm EUen 315 LILMNP o2 F &2 3¢
value of m, n. g
= & N
4m+n bbv
55
L Nm 4n M
| If the given figure ABCD is a parallelogram, then x,m. _Q/ r)%l 3 Smusixsef kot $515# L ABCD /| 37
i C
11
B
What do you mean by H.S= H.S postulated. ?aﬂ_yﬂz{tf(é"’ )’Eéz)} 38
What do you mean by S.A.S = S.A.S? el e S S =SS 39
What do you mean by S.A.S postulate? il ol s PE S 40

IfA —1[_1 %], D1 = [_2 2], then verify that: [ 2 o [ 1 ]1 .
(DA™ =AD" - DAYt =A"'D'rs
@ on
- /O .- o 3 _1 l 2 =
If A:Lll 2} and B:B ﬂ then verify that e OQ :“éu:wiB:{ };1A:[ }/l

O%{@\(/ ‘_ ‘ F & 4 6 2

A(Adj A) =(Adj A)A =(det A)I. A(Adj A) = (Adj A)A = (det A)I

1 2 _1 . "~ 0 3 _1 1 2 =
If A= and B = . , then verify that > & .,M””B={ }:’A=[ }/’
4 6 2 -2 <>\/ 2 2 4 6 2

BB =1=B B. ,\\N@S BB =1=B"'B

Solve the given linear equations biﬂﬁmatnx inversion

4x +2y =8 o3 "
method 4% + 2y_ 8 VA, 1, G SysxesibusLuds 4
3K =Y ==l
Solve the given linear equations by the matrix inversion 4 |
X+ V=0 3
4 = L. “OY 1
method: X+y = 9 L3l 1,8 o5 “il(}b”u.'f"t;y 3IX¢:..MJJ:G’Z:U}JE 5
—3x —y =—5
Solve by us.,ing the Cramer’s_rule. TW.O side§ of a 5(3.5JJQJJCM:;£W._{I-:¢,{J’LMd/cjiﬁ'z:ﬁ/
rectangle differ by 3.5 cm. Find the dimensions of the 5 ; . . b
rectangle 1if its perimeter 1s 67 cm. - 67 sbl§ L2 ..é( o d‘rjt/(f/w‘"w’”d’-%-d/
_[3 2 2 4 : _ L omen _[2 4 3 27r
If A= [1 _1]andB = [_ _5], then verify that: .jJQMiB = [_3 _S]JJ'A = [1 _1]/'7 5
(AB)t = BtA? (AB)t = BA?
. (8L)'x35—(3)*M"1(243)  (BL)""x3°-(3)*""1(243) &
Use laws of exponents to simplity: (977)(39) (971)(3%) AeadLiliei 8
a+b by DtC c\CHa ax a+b by D+cC c\ C+a
Show that: (xb) X (x_c) X (x_a) =] (x—b) X (x—c) X (x—a) =1/ 9
X X X x x x
L L L 1 1 L
23X(27)3X(60)2 23X(27)3X(60)2 .
Simplify: L I s 10
(180)2%(4) 3 x(9)4 (180)2%(4) 3 x(9)4
2 L 2 L
216)3%(25)2 216)3%(25)2 y
Simplify: ( )3><£1 ) ( )3X£1 ) 22 2 11
\ (002 Ny (092
Solve the given equation for real x and y: (2 — 3i)(x + 2-=3)(x+y))=4+i :EFUysxfen- 12

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

Please visit for more data at: www.pakcity.org

m()

| U ) | | ) ) S (S L o) (1 o) o [ ) ) | (o [ | [ S 1 || ) o () [ o 5 1 () G ) | o o) ] S V{1 | (S o o (| [ ) ] o o ) | o [l () ) ) ) o ) ot o ) s\ | 5} {1 ) ) o, o o o e o o) o) [ o o | ) o ) o o | o | o [ [l o |

Om



www.pakcity.org GMathematics Guess : Class 9th
o. lllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllll
N
yi)=4+1
aP\P1a ;qa\qtT aP\P*t4 /qa\21T ;
: wn r D AT\P—T il = PaT\P—T .5 27 13
Simplify: (_aq) (_ar) =5(aPa")P™",a #0 (aq) (a?") 5(aPa™P",a# 0 2/

azf a2m

. . aZTL
Stmplify: (a”m) (am+”) (an”)
) ) =3 af 3 [qm 3 |lan

Simplify: ’a_m X ’a_" X ,?

Show that: 7logi—§+ 5 log§+ 3 log% = log 2

0.678x%X9.01
0.0234
V2.709 X

Use log tables to find the value of:

Use log tables to find the value of:

V1.239

83x /92
127% /246

(438)31/0.056
(388)*

Use log tables to find the value of:

Use log tables to find the value of:

-q
The formula p = 90(5)10 applies to the demand
of a product, where q is the number of units and

p is the price of one unit. How many units will be
demanded if the price is Rs. 18.00?

Perform the indicated operation and simplify:
x%2+xy x%*+xy @ x%—x

y(x+y) y(x+y)  xy—-2y

P>
Ifa+b+c=7andab + bc + ca = 9,\tl\1@11>1nd

the value of a® + b? + c?. w
o

If2x —3y =10and xy = 2,?hén find the value
of 8x3 — 27y3.

Ifa? + b> +c?*=45anda+ b + c = —1, then
find the value of ab + bc + ca.

Ifm+n+p=10and mn +np + mp = 27, then
find the value of m* + n* + p*.

If (Sx _ i) — 6, then find the value of
5x
(125x3

)
1

2
Ifx = 2 + /3, find the value of x — iand (x — —)

X

ATy ey) Ty ety)

“é/ﬂ'y 14

azt’ azm a2n

t5,r’1£"+1'nv, qmtn an+{’
— W e S e
am an a’

£ 15

Q. No 6: Long Questions

16 25 81 .
7logE+ 5[09§+3l0g5— log2S &=t 1

0.678%9.01 i .
0.0234 ‘éf"b”"“"»c-ud/dw("ﬁw 2
V2.709 x ¥1.239 :“ér,w;g‘ja,uwwf,@ 3
3

83X /92 i i
E e ot K 4

e Erele el

(438)°v0.056 ) .
P - P j/ 5

(388)* Fredc e’ K

U D = 90(5)1_3umKJJ¢/@,/Jf
.fc;’_lwf..&X Ju:’ul./lpzal)lMJU}’)’(éé.b) 6
@\ L L oy e 118,00

0(\%;"3/ x2+xy @ x*-x

© Xy—2y

:éf'?gd’f;a“; 7

ywab+bc+ca=9sa+b+c=7/

3
Eebredda? + b2 + 2

=2U8x3 — 27y3iwuxy = 2.42x — 3y = 10/ .
g

Jva+b+c=—1sa®+b?+c? =45/ o
-“ér:b’gé'Jab + bc + ca

jvmn +np +mp = 27sm+n+p = 10 14
e ddm? + n? + p?
o 1 v 1 P

!”L’/M“J( x3) L (Sx _5) B 6/' 12

&

*e b

_ér}”u:"gd/(x — 1)me - l?yzx =2++3.) 13

Determine the rational numbers a and b if mea;ulu"uy 1y V3+1 _ =a+ bV3
-1 3L e V3+l © y/3-1 14
V3+1 3—1 -éﬂl"”uﬁ:‘:
va2+2+vaz-2 vaz+2+va®- .
Simplify: - - a Hotvar-2 .2t 47 15
vaz+2—vaz-2 va?+2—va?-2
1 | 1 g .
Si lify: :15{ o
P VaZ—xZ ~ a+VaZ-x2 a—Va2-x2 a+Va?-x%2 T ~ 16
e e B
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' Q. No 7: Long Questions

@)

o)

For what value of m is the polynomial p(x) = 4x> — p(x) = 4x° — ¢ Fx + Zééa}L'JJmfér#’ 1
7x* + 6x — 3mexactly divisible by x + 2? ?gé-/f:ﬁ’fi.”fif7x2 1 o S
Find the value of k if the expression x3 + kx? + 3x — &—20ke i S x4+ 2/x% + kx? + 3x — 442/ 5
4leaves a remainder of —2when divided byx + 2. Eerad Sky
If (x — 1) is a factor of x® — kx? + 11x — 6, then find Sk Ix 3257 6x —kx? + 11x — 6 (L 2 (x — 1)/ ,
the value of k. ey e
The expression (x’+mx” —4 leaves remainder of -3and ~ _ - e d S (:""5’ L(X+2) 5 (x=1) £ 0x> +mx>—4 -4
12 when divided by (x—1) and (x +2) respectively. S ) 3 o 4
Calculate the values of ¢/ and m . '“ér’lyu:‘: Jm s £ 3 f G123

. 1 1 "
Factorize: x* + = 3 x* + = 3 :&¢F 5
For what value of k 1s (x +4) the H.C.F. of AMX+x—(2k+2) u}@+(ﬁ’l;u(x+4) "iLJJ(Jk ‘
x*+x—(2k+2)and 2x> +kx—127 T62x” +kx —12
Simplify as a rational expression: [x+1 _x-l 4x | 4x J 2 B Lz P
l:x+1_x—l_ 4x 2 4x } x—1 x+1 x*+1 x*'-1 7

x—1 x+1 x*+1 x*-1
Perform the indicated operation and simplify to the (ZE 7 An e d S S U1
4
lowest form: —> i S 22X_1 x §+3 x*-8x  2x-1 _ x+3 8
2X°+5x-3 x"+2x+4 x"-2x IR i —3 w4Vl xE—Tx
Perform the indicated operation and simplify to the 22 lagsuee i S
2y’ +7y—-4  4y*-1

lowest form: —%—Y = . ¥ 2y° +7y-4 4y -1 E

2 ) 2 :

Simplify as a rational expression: é Aty

D—;zzx}[zi;ﬁl“‘x} é@ﬁ\o L L, 2 J_[x+1+ 42} 10

X+2 4-x

Find the values of ¢ and m for which the expresmo;g/y\gz = V&  =d d vem it

49x* —70x* +109x” + fx —m will becomeaperfeuare _Eud, J-‘( 49x* —70x> +109%2 + £x — mn 11

O\ AN\

Q.No 8 Long Questlons

“"
1 1),2_5.1(1 . 1[X 1j+2 5+1[1 3x] 1
L x—— |+ Z 4 — | L2 —| | .
Solve the equation: 5 6/ 3 6 3\ 2 9) 6/ 3 6 3.2
:ér;b":,ff(abu
. o T N S
Solve the equation: 7x+5 3 4x+10 9 2x 2 5 .5 3
2x+5 3 4x+10° 2
:ér#’.:-yf&vbb»
2X +1_5_|_ 2 _
Solvetheequatlonzx_l 3 6 x=1 2x +l §+L <21 3
x-1 3 6 x-1
:é,)}"’&fdp&vlsb
. 2 _ 1 —-L- , X #*1
Solve the equation: -1 x+1 x+1° - 2 b
: = x#t 4
x"—1 x+1 x+1
:éf#@f(@ljv
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GMathematics Guess : Class 9th
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9)

2 _l_ 1
3x+6 6 2x+4°

Solve the equation:

3—5x‘ 1 2
3 3

Solve for x: ‘ "

Solve the inequality: 2 %x Jo (Sx —4) > — % (8x+7)

3x+2 2x+1

Solve the inequality: |

Solve and check for extraneous solution,
V3x—1-2V/8—-2x =0

Construct aAABC . Draw the bisectors of its angles and
verify their concurrency:
m/B =75, mBC=4.2cm , mAB =3.6cm

if any:

Construct a triangle PQR. Draw its altitudes and show
that they are concurrent:

m/R =45° , mQR =3.9cm , mPQ =4.5cm

Construct a triangle ABC. Draw the perpendicular
bisectors of its sides and verify their concurrency. Do
they meet inside the triangle?

m/B =60° , m/A =30° , mBC =2.9cm

Construct a triangle XYZ. Draw its three medians and
show that they are concurrent

mZX =5.6cm , mYZ=3.4cm , mXY = 450%

Q. No 9:

2 | |
e — , Xi#E—2 5
3x+6 6 2x+4
:"épbwyd"&uu

‘3—5x| -
4 3
ng +§(5x —4) > —%(Sx +7) :ES Sl g T

M 2x?:|-1 > —1 :éf[:«l;l//;; 8

9

V3x—1-2V8—-2x=0 : g UynESfien- 4

% :“élr}l’/&f’g)pg&l}b" 6

Q‘.MJLﬂﬁﬁLUU}IgJFBL u;.’}ljéiu’l_é“.l;; AABC

10

m/B=75° , mBC=42cm, mAB=3.6cm

=

-

Et b5 o S ZE a8  EE (L5 ssF L&t PQR 2l

_ _ 11
, mMQR =3.9cm , mPQ =4.5cm

m/R =45°
{OH
(o S E G ud mé St L L izt ABC et
_ 12
m<ZB = 604”\, mZA =30° , mBC =2.9cm
6\\/ 2 S B L el S
{\\g& B EI I MEE e s L 12 b XYZ 2k
13

=5.6cm, mYZ =3.4cm , mXY =4.5cm
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Prove that any point equidistant from the end points

of a line segment is on the right bisector of it.

Prove that the right bisectors of the sides of a
triangle are concurrent.

Prove that any point on the bisector of an angle is
equidistant from its arms.

Prove that parallelograms on equal bases and having

the same (or equal) altitude are equal in area.

Prove that triangles on the same base and of the
same (i.e., equal) altitudes are equal in area.
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